/0PTF942

Spreader Supply at BBI

www.BBISpreaders.com

N
H

70PTF-18B

1| 70PTF-1A 1 |LH Housing w/ Grease Fitting

Pull Type Gearcase, 2 | 70PTF-3 1 |Gasket, Top (Rectangle)
70PTF942R | Reverse Rotation (Shaft 3 | 70PTF-2A | 1 |Top Cover (Rectangle)
on Top) Right Hand 4 | 70PTF-4 6 |Cap Screws (1/4” X 3/4”)
Pull Type Gearcase, 5 | 70PTF-5 6 |Split Lock Washers, 1/4”
70PTF942L | Reverse Rotation (Shaft 6 | 70PTF-6 1 [Output Shaft (1-1/4 X 10-3/4")

on Top) Left Hand 7 | 70pTF-11 | 3 ]Oil Seal

8 | 70PTF-12 4 |Retaining Ring, Large

9 | 70PTF-10R | 4 |Race

10| 70PTF-10C | 4 |Bearing

11| 70PTF-16 4 |Washer/Spacer/Shim

12| 70PTF-13 2 |Retaining Ring, Small

13| 70PTF-8P 1 |Pinion Gear

14| 70PTF-18A | 2 |Shim .005

15| 70PTF-9 2 |# 15 Roll Pin (2” X .385/.375)

16| 70PTF-7 1 (Input Shaft (1-1/4” X 6-5/8”)

17| 70PTF-8B 1 |Gear

18| 70PTF-2B 1 [Side Cover (Round)

19| 70PTF-19B | 1 |Side Gasket, Round .020

20| 70PTF-17 1 |Lock Washer, Split (5/16”)

21| 70PTF-15A | 4 |Cap Screw (5/16” X 1-1/2”)

22| 70PTF-14 1 | Pipe Plug

23| 70PTF-22 1 |Grease Fitting

2

Shim .010




